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L =	150	mm
L =			 0	mm
L =	- 82	mm
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TPC

L	=	50	mm

Target

R	=	218	mm Vessel	Outside

300	mm

SC1 z

L=0 L=-8.2 L=-16.4L=21.8L=26.8 L=150

Y=0

Y=150

(Rela.	eff,	Ratio@0-50	keV)

(1,	0.67)

(0.48,	0.74)(0.29,	0.75)(0.23,	0.84)(0.17,	0.82)

L	=	100	mmL	=	200	mm

(0.36,	0.75)

(0.28,	0.82)

(0.08,	0.85)

(0.06,	0.85)

(0.20,	0.83)

(0.11,	0.87)

(0.05,	0.92)

(0.03,	0.92)(0.007,	0.89)

(0.01,	0.87)
(0.14,	0.78)

(0.11,	0.67)

(0.04,	0.52)

Result
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Conclusion

• nïāöéäëÇ¯µÖòúãÿëûÜā�y�9OÈã
õøýāãùÿØ�Á¾.

• L=15	cm,	Y=15	cmÃ�YW�É�ÛíüÝāÃÐ90%

�¿±©��¡DÉ4%oDÇhÖ.


